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1. Answer the following questions :

M.A. (Previous) Examination Frefem T R AR

ECONOMICS (1) Define Rational Function.
(Quantitative Methods) qRiEa e &l IRt wifsa |
URATITHE W (i1)) What is Finite Discontinuity ?

Paper : MAEC-04 E

dy
If y = 3x2 — 6x + 7, then find out —-

Time : 3 Hours | [ Maximum Marks : 80 (1) dx
Note .— The question paper is divided into three Sections qfE y =3x2 - 6x+ 7 &, A Z_y F1 TF A4
. . X
A, B a'nd C. Write answers as per the given |
Instructions. o (iv) If Q = AL®KP is Cobb-Douglas production
et - w® T e, ' e W A Eel | fawife © function, then find out output share of capital
YO% WUE & FRIMGER Al & SW S (X).
. = B e el
Section—A 8x2=16 afc Q = ALYKP =i e IR e
T ¥, @ o Saafa § dSit ((K) & 1w @ @
(Very Short Answer Type Questions) FHIT |
Note .— Answer all questions. As per the nature of the (v) What is Coefficient of Variation ?
question delimit your answer in one word, one foreror 1o = ¥ ?
sentence or maximum up to 30 words. Each (vi) What do you mean by Positive Skewness ?
question carries 2 marks. YT faSHar ¥ S9SN SIRUTT § 2
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(vii) Explain the meaning of Standard Error.
THM A & A H T HifeT |
(viii) Describe the meaning of Poisson Distribution.
9T &7 & o1 H T Hifew |
Section-B 4x8=32
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.

gue—a
(g T q99)

T .- forsl 9 g9l & S SISE) 39 39 ST i
AfeRay 200 vrsi H REifad wifsw) gdw 9
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3. Solve the following system of equations using
Cramer’s rule :

3x + 5y — 7z =13
dx +y—-122=6
2x + 9y — 3z = 20
B & oW F1 3wE we Frefefea g gomet
Eﬁf%ﬁaﬂﬁlﬁ:
3x + 5y —7z2=13
dx+y—-12z=6
2x + 9y — 3z = 20
4. If the arithmetic mean of the data given below is
28 :

1 2 3]
A= 1 2 3
-1 -2 -3

1 2 3]
A= 1 2 3
-1 -2 -3
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2. Prove that A2 = 0, if matrix A given as :

fag wifsw f& A2 = 0 2, wefe Bfem A = %

TR—203 TurnOver

Profit per retail shop Number of
(in %) retail shops
0—10 12
10—20 18
20—30 27
30—40 —
40—>50 17
50—60 6

Find the :
(a) Missing frequency
(b) Median of the series
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Ife = feu U SATHSl FT HRR W 28 ¥ :
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c&: D) &
0—10 12
10—20 18
20—30 27
30—40 —
40—50 17
50—60 6

a RIGI aﬁ%nz :

(37) o=@ S

() @ i Hifeasn

. Explain the difference between cluster sampling
and multistage sampling.

T= Ufdead T 9g=Ron Jfaadd & Hed R T
RIS |

. Calculate the mean, variance and standard
deviation for the following data :

Markslessthan [ 10 | 20 |30 |40 |50 |60 | 70

Frequency 10125150 75(85(95]|100
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frfafea gaet & fau aren, fasror iR yam fa=em
1 TOET HIfSIT

YTedieh (W aRH) | 10 [ 20 [ 30 [ 40 | 50 | 60 | 70

agta 10 | 25|50 | 75|85 |95 100

<

. Discuss the main characteristics of Normal

Distribution.

TAHT §eq Ht HeA fawemaiet st foeern wifs )

. Calculate the correlation coefficient between the

heights of fathers in inches (X) and their sons (Y):

X | 65|66 | 57|67 |68 |69 |70 72

Y |67 |56 | 65|68 |72 72|69 |71

faar &t SR (X) SR STE [ H 9 (Y) 39 F
o9 e IO i AT FHISC

X | 65|66 |57 |67 |68 |69 |70 |72

Y |67 |56 | 65|68 |72 72|69 |71

. “Discovery of students ‘¢’ is regarded as a landmark

in the history of statistics.” Examine.
‘T I TS Wi % Siied | TE IR
et T1" e Fifg
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Section—C 2%x16=32 oTfeeR Friem | SHOe 9H®] &1 ST w1 Sied
fag=m sifs | STor &t fafy fag qen wa fag o

, . oMol § SRR TR wIA gL STk U F Qi I
Note .— Answer any two questions. You have to delimit Teten AfT

your each answer maximum up to 500 words.
Each question carries 16 marks.

(Long Answer Type Questions)

13. Using the following data, construct Fisher’s Ideal
Index Number and show that it satisfies the factor

gue—¥ reversal test and time reversal test.
& s we) Price Quantity
frrcer - fonl a‘g@ & I AT 9 T IR AT SAferemam Commodities | Base Current | Base | Current
500 vr=ai H wREifid ST Je&m 99 16 37 6 Sl year year | year | year
10. What are the components of time series ? Briefly Wheat 150 180 60 80
explain the methods of measuring trend. Ghee 350 400 20 30
HIA AN F HH-HAY FIH § 7 IUAM BT AT HT Firewood | 1400 1500 2 5
Uil &1 98 | gHsEy | Sugar 4000 5000 1 2
11. Two dice are thrown three times. What is the Cloth 15 20 100 200
probability of getting a total of 10 in first throw, frafafea sifest #1 ST #d g, fReR & oTest
a total of 11 in second throw and a total of 12 in AR DI T HITT SR IUMET o I8 a0 SHAIIE
third throw ? e SR THT SERHU TUE0 G H ©
U I T IR e S €| GEE § R eedt . HAd e
wF H 10 F g, T ok H 11 F S AR A R ST A | =Te o | anew o | = o
He H 12 H S ST ? <
> Diecuss brisfly e il of sooulat o W 150 180 60 80
Discuss briefly the utility of population statistics = 350 400 20 30
in economic planning. Explain the difference X
between the De jure and De facto methods of e 1400 1500 2 >
conducting population census, bringing out their = 4000 5000 1 2
merits and demerits. ELZ 15 20 100 200
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